[H1Z21(AHIAT A 871s)

J8a 22 220N E 2380 ©5

+
v(®) v, |=-i0 v oeg v

1) 2—ZE 3|Z2ZYU(A)9| h—Ii2l0|E(BIO|EZ|E)E JIIA|R. (S Al BEdt= K|
7{BICE) (127)

2) Vg=1020°V], Rg=1[02], R,

=

1] €
WLIVIE ToHA2. (8F)

M, nolA et h—I2t0HE 0| 83tH0




[Eol]
HE2)
CHS 3|20

AVAAY Jj( } } y
10209 V]<> z ) —jlQ svi 1Q§ §1Q

N Vv, V-V
1. OpC] xOff KCLE HB&HH 1= _—;+ 1_] 2
. V, Vo~V
2. OfC| yoff KCLE HB3tH 1§=5V1+T2+2_7j1
3. 470 1, 22| AtAE2 v, LO| 250 AESHH
Vim— ikt 5 Vo = pt ”9 V,0|122 2 ZE 3|29(5)9 sto|22|c T}
1 1
atojge g |t el g L —jose 0.5
= hoy hos _1+45 7+jS —0.5—32.5 3.5+ 40.5S
2 2
o. 2=2@2)
1. 2—-EE 3|2 (p)9] ZEXY, MRoA MM

1
Vie—ight 5 Ve b=

2
2. &7] 229 %*E zE M2t KVLE HESHH 10=1xL+ 1,

w
=
=
o~
|
o~

-V
+—.+_7j2= 0, OFCl yOlIM KCLE

1 —J
" V. W, + 1
22t Meehe L Lysy 21 —2=00|22 £ A eEse v— 50y,
— 1 1 101 101
Q v, - v,




[H22]1(AI2 AL BI1S)
J8a 20| v,=390230° [v,,.]ol2

a

= 2|20 ofgl chg =230 EotA L. (

g 7Hls BY 3¢ TR o3 FSE

o o
S} >
o
5

50 J12Q
ao & AA—TIN
B 50 J12Q

b —A\\W N
A A -2 c 50 Jj12Q
co — A\ L\K

1) M- 10) Ofof FHEE MU T, 6F)
stofl oj3t M AHHEHS ROHAL. (12F)




§°|]
CE2E()

N0 ols) Sxsle A polet 3 Hejz- 12 MY v, o MEE I,2
Ht22 P, =Re|V, L |[WIOICE FOIT 8|20 MYS oot S7tl vZAM S2Z HT

M ofel == 3| ZEof Zrt.

I 50 7120
8 M—T

+

Van(t) Vab
Vbn _ 50 jlzg

né |+ t-') l=3 NN PN
()

50 J12Q
s vy L)

N 390 £ 30°
EE HTY Vo= Vo V323070182 #RY V= 2 D= 130V3 o[V, [0l
CtdS7t2| 2= CHSot 2.t

I, 50 J12Q
I SV Y T
VB.U
s 1N

MEz  _130V320° 50V3 12073

w5z 13 013 Al
MEY V= V,=—3902150° =390~ —30°[ V.| O| 22
P, =Re |V, IX |=Re[1800 v/3 +2250 + (5400 — 750 /3 ) ] = 1800 v/3 + 2250 [W ]

o 2&Q)
1. 3¢ BIFot0| 2t T AHHH2
2 2
3XRe ﬁ}:&xm %}Re[%OOJrﬂOSOO]%OO[W]
J

rlo

2. a
HEHA 20 2o 585 HHE pat ofH TEA-—22 UHY o UUFR LS 7
X

rms 13 13 13 13
02 p,=Re|Vf|=Rel—450(4 V3 —5)+150(5 /3 +36) = 2250 — 1800 v/3 [W
etA 34 BAESH| oo ©A AH|FMH2 P+ P, = 4500(W]

Vo= 3902 —90°[ V,o], Bp= Ax14—120°—25‘/§—180+(60‘/_ 75)[Arm]ol



[HIBZ21(HIAIAIE B71s)
J8a 22 HolXM 2 =0AM O =30 AL (T 208)

vs20o(?) ::ja%c Biol RS

1) a—b THAOIM S0CH 2 AUEHA 7 & T2, (6H)
1
2
A2, (63)

2) Vo= —Ves0°7} E|7| Qe RE ZHE w, R, R, C, L MO|Q

2

A

Al
2

oz HY

ot

3) Vg=100[V], w=1,000[rad/s], R, =0.5[02], R,=2.5[2], C=200[uF], L=1[mH]

2 Ml 5= Fotr 2. (87)




[Eol]
HE2)

1 1 1
—_—= — ==+ ——|[s]o|E&2
7 JwC+ — L+ RQ R2+](w0 u)L)[S] |

1
Z, =

+](wC— w—lL) )

R?
H4EQ)
CIe S7t2| 20| T2 2 E o sy
1 Z 1
— X% ya — Vs 0° oeg —=
I/2 R1+Zl Vb 0 2Vb O[V] |

R+Z 2
matM 27, =7, + R OAN Z = R 0| HESHOF SHC}.

11 1 11 1 .
Z, R, Ol %J”(“’C w ) R, 1= R, R’ wC— = 00[0{0F 2HC}

—

\/2—0 [rad/sec]

24E03)

" 100 £0° 100 £ 0°
ChS 320N L= = =50—j50 =502 £ —45°
2 2A201M L 05+ 2~ 05+ 5ljI25) 50— j50 =502 5°[A]

I, 050
A

&

10040°<D ’_> +_j50 g i §2.SQ
b
!

Z



[H4Z2]1 (AT AR E71S)
Jdgnt 22 20N CFS 230 AL, (B, v(t)=12u@)[V]OIZD w(t)
Ctat~0|Ct) (F 207)

30 4() 0.5
AN——TTI

rn
o

rir

1 i ()2 S88H 22 o1, i, (1) 17SEH2 o s Sd& =0

2) i,(0%),

3) i, (t)E FBIAIL. (Eh t>00|Ct) (87)




[Eol]
HE2)

30 ¢ 0.5H 1y
AV 00—

u(t)C) 9 10 9 §0.2H

7] 220M B2 xE WMet KVLE HEOHH v=3i; +0.5i, + 1< (i; —i,), T2 yE et

VL HBSHB 021, +1 (i, —iy)= 00ITF. 02 = L2 xgeto) 47] way

dt
2 CHAl MW = (44 0.5D)i, —iy, (0.2D+1)i,—i, =001 0|5 HESIH
2 D+ e 124 . ! . ’
i1:2(—5)“0|2§ i, Of 2t O/%e 4, + 134, +30i, =20+ 1000|Ct. ST
D*+13D+ 30
2 s +135+30=(s+3)(s+10)=00|B2 EEZ2 s=—3, —100|1 DRSS IN&

EMS

(over-damping) 5§42 EQICt

Ho

~

(2

oA
v

(M

—~
~+

)=12u(t)=0[V](t<0)O|B2 ¢t< 00N 2|20 MZE Oo|HX[= oJO[Ct Ot2fA
i,(07)=14,(0")=0[a]o|2 AYE{TFO| ALNO| 28f 4,(07)=i,(0)=4,(0")=0[A]

() v=3i;+0.5i," + 1 (i; —i,)OIM i)" =2(v—4i; +1i,)= 2(12u(t) — i, (t) +4,(¢))0| T
EHFOl A0 23l i,(07)=14,00=4,(07)=0[A], i,(07)=14,0)=4,(0")=0[a]0|22
di, (0")

=2(12u(0")—44,(07)+4,(0"))=2(12— 0+ 0)= 24[A /sec]

dt
(3) Cfe AFEAMENZ 20 A KVLO 28 12 = 3i;(c0)+ 00|22 j;(c0)= 3—4[A]
30 7 (0)
A
+
12V D 10S oV

HE ne ZWoM A]EE iy, = Ke ¥+ Ke [A]0|D HE 2)9 ZIOM ZHSE

o
o
iy, =iy (c0)=4[A]01B2 AMEEE i =), +i, = Ke '+ Ke " +4[a]0ICkH

=—3K, — 10K, =240|22 £ 4Z HY5tH

16 5 12

K= 5 :_%om_ kA i, (1) =4~ e = Al(t>0)



30 I; 05s
AN

%v(ﬁ) 10 go.zs

AT| BIEEA SIS 20| M KVLY 2|8l 15_2: (3+0.55)1 + (1110.25), O| 22

12

7= s _ . 24(s+5) 12 16 L4
L 34055+ (110.25)  s(s2+13s+30) 7(s+10) 7(s+3) s
et i (1) = £ 1[4 (s)] == 2e " — 200 ¥ 44 [A] (¢ > 0)

7 7



[M521(HA7 AR E7Hs)

Jgar 22 320 s ot 2200 oA, (B, v, =1]

V,=2[V], Vi =4[V], Vy;=6[V]OIH, R ~ R, 10[2], BE AMSZEI|E= O|AHO|
Ch) (5 207%)

1) OP19| EEE MUS FIA2. (6H)
2) OP39| ZHELH MAZ FSHA 2. (67)
3) V,,, & 7oA. (87F)




[E0]]
I. 420

(=]
0—-V, 0-V, 0-V, 0-V,,
—o0|l22
0 10 T 00l

V== (Vi + Vo+ Vy)=—(14+3+5)=—9[V]

=
M
Mo
N

V()I N m
10Q oV

‘/03
27| 220 op22| YN YHECEXIO| KCLE HE5HH

0= Vo 07 Vs _ojmz y, = —9[v]

10 10 EE Ve Ve =0l

m 4&3)

1. op20f| AHAE 2EQ FxE OP10| HZE 227X SYSHEE HF 1)° ZWE
O|&StH V,,=—(V,+ Vi+ Vy)=— (2+4+6)=—12[V]0|1 OP4= HEHE FHsEE
Vo4 = V02 = 12[\7]0“:"

. % B
IOQ V{)Z
‘fso—/\AA

10Q

- 10Q
V()



2. Bt 3201 oP52

YT KCLE HE

v

out

=V

SR ERO] KCLE HEstE oy L T
10 10
| 14 V— o4 .
m V., Yooz o2 ozisto
st Vol o2z o2 agee

od V03 = 12_9:_21[\]]

10Q2

r
ra



